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Chapter 17 
Chapter Test A

Multiple Choice

1.
B
2.
C
3.
B
4.
A
5.
D
6.
B
7.
A
8.
D
9.
C
10.
A
Modified True/False

11.
F, Electromagnetic
12.
F, developing
13.
T
14.
T
15.
F, fission
Completion

16.
chemical
17.
refining
18.
methane hydrate
19.
radioactive
20.
temperature
Short Answer

21.
Potential energy that was stored as the skier moved to the top of the hill was converted to kinetic energy as the skier started downhill.
22.
Possible answer: Strip mining is probably less expensive because as soon as rock and soil have been cleared aside, machinery can quickly remove large quantities of coal.
23.
Possible answer: Pollution from coal occurs mainly from substances that form in the air when the coal is burned, whereas pollution from oil is due to the oil itself and usually occurs in water.
24.
Tunnels can collapse and flood, trapping miners; dangerous gases such as methane are released that can cause explosions and suffocation.
25.
If gasoline costs more, people will drive less, and thus buy and use less gas.
Other

26.
plants, heat, pressure
27.
Anthracite coal forms under higher heat and pressure and over a longer period of time than lignite coal does. The higher heat and pressure cause more energy to be transferred to the anthracite coal during its formation than to lignite coal.
28.
On the right side, the ancient plants are buried under more layers of soil, which exert a greater pressure.
29.
anthracite
30.
peat
Essay 

31.
Molecules that make up the object contain thermal energy, which is the total kinetic and potential energy of all the atoms and molecules in the object. These particles are constantly moving. The faster the particles move, the more thermal energy they contain and the warmer the object feels.
32.
When fossil fuels burn, they release carbon dioxide into the air. Because carbon dioxide is a greenhouse gas, it contributes to climate change. Fossil fuels also release nitrogen oxide and sulfur dioxide, which cause the formation of smog. Finally, burning fossil fuels causes acid deposition, which harms plants and buildings.
33.
 Because the buyer nation needs fossil fuels, it must pay whatever price the seller nation asks. And if its supply is interrupted, the buyer nation must find a new supplier at any cost. These problems can cause the buyer nation’s economy to become unstable as it must spend an increasing fraction of its budget on fossil fuels.

34.
The statements are not contradictory. The United States uses more energy per person than most nations. Although the United States generates more electricity from nuclear power than any other nation does, the amount is only 20 percent of the total amount of electricity we use.
35.
The splitting of one uranium atom releases three neutrons. Each neutron can then split another uranium atim. Thus, the amount of energy released in each step of the chain reaction increases three-fold.
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